
Service Link

Version 3

Level 2 LV ABC fittings and products for 
underground, overhead and metering 



2 all-round-supplies.com.au

Arc-rated Clothing

Fall Protection

Electrician’s Gloves

Covers and Guards

Rescue Kits

Body Protection

ALL ROUND SUPPLIES SAFETY LINK CATALOGUE
All Round Supplies’ range of safety equipment is specifically tailored to the needs of 
electrical contractors across Australia. We’ve taken the hassle out of stocking up on 
your safety gear by sourcing everything you’ll need, right here in this catalogue.

Your #1 Supplier Of
Specialised Electrical Tools

LV ABC

testing urd crimping cables earthing

cutting insulated cable prep stringing



Overhead
Cable
LV ABC connectors
Strain & suspension clamps
Brackets & hooks
Fuseholders
Fuses
End caps
Preinsulated sleeves & lugs
Solpac kits
Service poles
Cover guards
Saddles
Pole caps
Labels
Tiger Tails and aerial warning
Nuts and bolts

underground
Cable
Service pillars
Terminal blocks
URD tools
Submersible fuses
Lugs & links
Nuts & screws
Cable clamps
Cable ties
Earthing rods & connectors
Heatshrink
Conduit
Cable lube
Rope & string
Greases & pastes

Tapes

metering
Service fuses
Service fuseholders
Meter labels and seals
Torque screwdriver kits
Neutral supply tester
Earth lead accessories
Single phase load tester
Safety

5
5
7
8
8
8
9
9
9
10
10
10
11
11
11
12

16
17
17
17
18
18
18
20
20
21
21
23
24
24
24
24

27
27
27
27
27
27
27
27

CONTENTS:

Printed copies of the NSW 
Service & Installation Rules!
Forget grappling through online PDFs and grab 
a printed copy from ARS today. Make your own 
notes and bookmark pages with this super 
convenient, A5 handbook.

Published by the Department of Resources & Energy, the NSW Service Installation Rules 
is the recognised industry code outlining the requirements of electrical distributors 
when connecting a customer to the distribution systems of NSW.

Service 3Phone: 1300 087 579



overhead SERVICE 
materials

PRIVATE
pole

4 all-round-supplies.com.au



Service 5Phone: 1300 087 579

*Not supplied on a drum, end caps not applied.

N = Endeavour, Ausgrid and Essential approved, codes with no N = Endeavour and Ausgrid approved only.

Overhead service cable

LV ABC cable coils

Overhead service cable - cut-to-length

Description Code Buy Unit Unit of Measure 

ABC LV 25 AL 2C 00381N or 00381 300 Mtr Drum Mtr

ABC LV 25 AL 4C 00380N or 00380 200 Mtr Drum Mtr

ABC LV 95 AL 4C 00487N or 00487 500 Mtr Drum Mtr

ABC LV 150 AL 4C 02108N or 02108 500 Mtr Drum Mtr

Description Code Buy Unit Unit of Measure 

20M COIL - ABC LV 25 AL 2C 00381C 20m coil Mtr

20M COIL - ABC LV 25 AL 4C 00380C 20m coil Mtr

Description Code Maximum Cut Length Unit of Measure 

ABC LV 95 AL 2C 03757C 30M Mtr

ABC LV 95 AL 4C 00487C 30M Mtr

ABC LV 150 AL 4C 02108C 25M Mtr

House service connectors (HSC)
Description Utility Code Buy Unit Unit of Measure

CONSUMER 4-35, SERVICE 6-35 HSC435A 1B Aus 02511 1 or Box 10 Each

CONSUMER 4-35, SERVICE 6-35 HSC435BE 1B End 06621 1 or Box 10 Each

CONSUMER 4-35, SERVICE 6-35 HSC435DBE 2B End/Aus 06490 1 or Box 10 Each

CONSUMER 4-35, SERVICE 6-35 HSC435AE 1B Ess 06620 1 or Box 10 Each

CONSUMER 4-35, SERVICE 6-35 HSC435/10 1B, TAIL 02632 1 Unit Each

Insulation piercing connector (IPC)

Description Code Buy Unit Unit of Measure

MAINS 7-95 BARE AL,TAP 6-35 INSUL 1B 07116 1 or Box of 20 Each

MAINS 7-95 BARE AL,TAP 25-95 INSUL 2B 07058 1 or Box of 10 Each

MAINS 7-120 BARE AL,TAP 25-95 INSUL 1B 02875 1 or Box of 20 Each

MAINS 50-150 BARE AL,TAP 25-95 INSUL 2B 02342 1 or Box of 10 Each

MAINS 50-150 BARE AL,TAP 50-150 INSUL 2B 00815 1 or Box of 4 Each

MAINS 50-240 BARE AL,TAP 35-150 INSUL 2B 03374 1 or Box of 8 Each

MAINS 95-240 BARE AL,TAP 95-150 INSUL 2B 04612 1 or Box of 4 Each

MAINS 7-95 BARE AL, TAP 6-35 INSUL 2S 07117 1 or Box of 20 Each

MAINS, 95-240 BARE AL, TAP 35-95 INSUL 2B 07973 1 or Box of 4 Each

FOR BARE AL MAINS

06490

07116

02342

03374

06620

02632



6 all-round-supplies.com.au

Tap off connectors (TOC)
Description Code Buy Unit Unit of Measure

MAINS 5-19 AL,TAP 2 X 6-35 INS CAW235E 1B 03247 1 or Box of 12 Each

MAINS 5-19 AL, TAP 6-35 INS CAW35E 1B 00813 1 or Box of 12 Each

MAINS 5-19 AL, TAP 6-35 CAW35DBE 2B - (End/Aus) 06491 1 or Box of 6 Each

MAINS 3-14 CU, TAP 6-35 INS CCW35E 1B 00808 1 or Box or 12 Each

MAINS 3-14 CU, TAP 6-35 CCW35DBE 2B - (End/Aus) 06492 1 or Box of 6 Each

MAINS 3-15 CU,TAP 2X6-35 INS CCW235E 1B 08920 1 or Box of 12 Each

Description Code Buy Unit Unit of Measure

MAINS 7-54 BARE CU,TAP 6-35 INSUL 1B 02951 1 or Box of 12 Each

MAINS 7-95 BARE CU, TAP 6-35 INSUL 1B 08751 1 or Box of 20 Each

MAINS 7-95 BARE CU,TAP 25-95 INSUL 2B 00920 1 or Box of 10 Each

MAINS 7-120 BARE CU,TAP 25-95 INSUL 1B 02873 1 or Box of 20 Each

MAINS 50-150 BARE CU,TAP 35-95 INSUL 2B 07868 1 or Box of 10 Each

MAINS 50-240 BARE CU,TAP 35-150 INSUL 2B 02761 1 or Box of 8 Each

MAINS 50-150 BARE CU,TAP 50-150 INSUL 2B 07869 1 or Box of 4 Each

FOR BARE CU MAINS

Insulation piercing connectors (IPC)

Insulation piercing connectors (IPC)

Description Code Buy Unit Unit of Measure

MAINS 6-54 INSUL,TAP 6-35 INSUL 1B 02532 1 or Box of 12 Each

MAINS 10-95 INSUL,TAP 1.5-6 INSUL 1B 02874 1 or Box of 20 Each

MAINS 16-95 INSUL,TAP 1.5-10 INSUL 1B 00921 1 or Box of 12 Each

MAINS 16-95 INSUL, TAP 1.5-10 INSUL 1B 09075 1 Unit Each

MAINS 16-95 INSUL,TAP 6-35 INSUL 1B 07870 1 or Box of 12 Each

MAINS 25-95 INSUL,TAP 6-35 INSUL 1B 00515 1 or Box of 20 Each

MAINS 25-95 INSUL,TAP 25-95 INSUL 1B 00470 1 or Box or 20 Each

MAINS 25-95 INSUL,TAP 25-95 INSUL 2B 03307 1 or Box of 8 Each

MAINS 25-95 INSUL,TAP 25-95 INSUL 1B 07849 1 or Box of 12 Each

MAINS 35-150 INSUL,TAP 1.5-25 INSUL 1B 03735 1 or Box of 20 Each

MAINS 35-150 INSUL, TAP 6-35 INSUL 1B 02748 1 or Box of 20 Each

MAINS 16-150 INSUL,TAP 6-35 INSUL 1B 07581 1 or Box of 12 Each

MAINS 50-150 INSUL,TAP 25-95 INSUL 1B 07871 1 or Box of 12 Each

MAINS 50-150 INSUL,TAP 35-95 INSUL 2B 03105 1 or Box of 4 Each

MAINS 50-185 INSUL,TAP 50-150 INSUL 2B 00840 1 or Box of 8 Each

MAINS 70-240 INSUL,TAP 16-95 INSUL 2B 02820 1 or Box of 4 Each

MAINS 95-240 INSUL,TAP 95-240 INSUL 2B 02443 1 or Box of 4 Each

MAINS, 120-380 INSUL, TAP 95-240 INSUL 2B 04468 1 or Box of 4 Each

FOR INSULATED MAINS

08751

07868

07869

02532

00470

03370

00840

02874

00813

03247

06491
06492

00808



Service 7Phone: 1300 087 579

Overhead service tools
Description Code Buy Unit Unit of Measure

RATCHET SPANNER LINESMAN 2 WAY - LONG HANDLE 02345 1 Unit Each

INSULATED CABLE TEST POINT 03302 1 Unit Each

CORE SEPARATOR LV ABC TO 4C 95 02819 1 Unit Each

CORE SEPARATION WEDGE 03301 1 Unit Each

SERVICE CABLE TENSIONER 05487 1 Unit Each

LV ABC GRIP 4 X 95 - 4 X 150 ABC 04367 1 Unit Each

COME ALONG 2 X 16 - 4 X 35 ABC 04925 1 Unit Each

COME ALONG 4 X 35 - 4 X 70 ABC 08451 1 Unit Each

COME ALONG 4 X 95 - 4 X 150 ABC 08461 1 Unit Each

HOUSE SERVICE FUSE PULLER 450MM 08864 1 Unit Each

Suspension clamps

Strain & termination clamps

Description Code Buy Unit Unit of Measure

LV ABC 4X25 (IBSC) (Aus) 03923 1 or Box of 30 Each

LV ABC 4X95 (IBSC) (Aus) 03036 1 or Box of 30 Each

LV ABC 4X95 BREAKAWAY (End) 00458 1 or Box of 30 Each

LV ABC 4X95 NON-BREAK (End) 00459 1 or Box of 64 Each

LV ABC 4X95 BREAKAWAY ROLLER (Ess) 03272 1 Unit Each

LV ABC 4X150 BREAKAWAY (End) 02300 1 or Box of 30 Each

LV ABC 4X150 NON-BREAK (End) 04144 1 or Box of 15 Each

LV ABC 4X150 NO-BRK (Aus) 04243 1 or Box of 20 Each

SUSPENSION LV ABC 4X150 BREAKAWAY 09076 1 Unit Each

Description Code Buy Unit Unit of Measure

STRAIN WEDGE LV ABC 2X6 TO 4X35 (Bucket’N’Wedge) 02697 1 or Box of 50 Each

STRAIN WEDGE LV ABC 2X16 TO 4X25 00922 1 Unit Each

STRAIN WEDGE LV ABC 2X 6 TO 4X35 08758 1 Unit Each

STRAIN WEDGE LV ABC 2X6 TO 4X35 09072 1 or Box of 50 Each

STRAIN/TERM LV ABC 4X50-95 02584 1 or Box of 6 Each

STRAIN/TERM LV ABC 4X95-150 00467 1 or Box of 15 Each

STRAIN/TERM/SUSP LVABC 2X10-35 OPEN EYE  (Ess) 03257 1 or Box of 50 Each

STRAIN/TERM/SUSP LVABC 2X10-35 CLOSED EYE (Ess) 03259 1 or Box of 50 Each

STRAIN/TERM/SUSP LVABC 4X10-35 OPEN EYE (Ess) 03260 1 or Box of 30 Each

STRAIN/TERM/SUSP LVABC 4X10-35 CLOSED EYE (Ess) 03261 1 or Box of 30 Each

STRAIN/TERM/SUSP 4X10-35 CLOSED EYE 00952 1 or Box of 30 Each

STRAIN BOLT LV ABC 4X10-35 GAL OPEN EYE 09073 1 or Box of 30 Each

STRAIN/TERM LV ABC 4X70-95 09068 1 or Box of 10 Each

Mains connection boxes (MCBs)
Description Code Buy Unit Unit of Measure

SINGLE PHASE MCB, C/W HSC MCB1/2HAE 08743 1 Unit Each

SINGLE PHASE K-SERIES MCB, C/W HSC K451 02960 1 Unit Each

THREE PHASE MCB, C/W HSC MCB3/4HAE 08745 1 Unit Each

THREE PHASE K-SERIES MCB, C/W HSC K455 02961 1 Unit Each

02345

08745

02960

03302

04925

02697

00922

03261

03036

02300

02584

08864



8 all-round-supplies.com.au

Hooks
Description Code Buy Unit Unit of Measure

J TYPE, M12 SCREW OPEN EYE NO TAG 06258 1 or Bag of 50 Each

J TYPE, M12 SCREW OPEN EYE NO TAG 00923 1 or Bag of 50 Each

J TYPE, M12 BOLT 125MM GALV 03662 1 Unit Each

 J TYPE, SPIKE TWIST CLOSE EYE GALV 06031 1 or Bag of 50 Each

Q TYPE, M12 HOLE 12X145MM GAL STEEL 02738 1 or Bag of 50 Each

Q TYPE, M16 HOLE 10X85MM GAL STEEL 06895 1 or Bag of 100 Each

DOUBLE SUSPENSION 16MM GALV STEEL 03248 1 Unit Each

DOUBLE SUSPENSION 20MM GALV STEEL 00460 1 Unit Each

WEAK LINK 1.5KN 02829 1 or Bag of 100 Each

Mounting brackets

Fuses

Description Code Buy Unit Unit of Measure

WALL MOUNT SINGLE PHASE SERVICE 04962 1 Unit Each

WALL MOUNT THREE PHASE SERVICE 04963 1 Unit Each

POLE MOUNT SINGLE PHASE SERVICE 04961 1 Unit Each

POLE MOUNT THREE PHASE SERVICE 02952 1 Unit Each

Description Code Buy Unit Unit of Measure

SERVICE FUSE 22X58MM 63AMP 08814 1 Unit Each

SERVICE FUSE 22X58MM 80AMP 04202 1 Unit Each

SERVICE FUSE 22X58MM 100AMP 02414 1 Unit Each

Fuseholders
Description Code Buy Unit Unit of Measure

100A SERVICE FUSE TO SWAN NECK (K SERIES) 03535 1 Unit Each

100A SERVICE FUSE TO SWAN NECK (PFV SERIES) 08706 1 Unit Each

100A SERVICE FUSEHOLDER, K291 05360 1 Unit Each

100A SERVICE FUSEHOLDER, K490 02582 1 Unit Each

100A SERVICE FUSEHOLDER, PFV100 695 08705 1 Unit Each

100A SERVICE FUSEHOLDER, PFV100 695E 06587 1 Unit Each

100A SERVICE FUSEHOLDER, PFV100 695E IDP 06311 1 Unit Each

100A SERVICE FUSEHOLDER, PORCELAIN PIN 04199 1 Unit Each

Brackets
Description Code Buy Unit Unit of Measure

ANGLE TOMBSTONE 02677 1 Unit Each

SERVICE TAKE OFF, EA 03341 1 or Box of 50 Each

POLE ATTACHMENT HOOK PLATE M16 02811 1 or Box of 25 Each

HOOK LV ABC (AUSGRID) 03045 1 Unit Each

02677

03341

06311

06587

08706

04962
02952

02829

00923

02738

03045



Service 9Phone: 1300 087 579

Point-of-attachment brackets
Description Code Buy Unit Unit of Measure

FASCIA MOUNT SINGLE LEG 750MM 03643 1 Unit Each

RAFTER SINGLE LEG 450MM 03646 1 Unit Each

RAFTER SINGLE LEG 600MM-TUBULAR 03628 1 Unit Each

RAFTER SINGLE LEG 750MM 03647 1 Unit Each

Cable end caps
Description Code Buy Unit Unit of Measure

PUSH ON 16-70 CES1 02679 1 or Box of 50 Each

PUSH ON 95-150 CES2 02680 1 or Box of 50 Each

Description Code Buy Unit Unit of Measure

COMP  25 BI-METAL INSUL M12 - 87MM 03794 1 or Box of 10 Each

COMP 50 BI-METAL INSUL M12 - 92MM 04530 1 or Box of 10 Each

COMP  95 BI-METAL INSUL M12 - 115MM 02953 1 or Box of 10 Each

COMP  95 BI-METAL INSUL M12 - 92MM 07670 1 or Box of 10 Each

COMP 150 BI-METAL INSUL M12 - 115MM 03224 1 or Box of 10 Each

Insulated lugs

Description Code Buy Unit Unit of Measure

FULL TENSION INSULATED 25 ABC 02687 1 or Box of 10 Each

FULL TENSION INSULATED 95 ABC 02375 1 or Box of 10 Each

FULL TENSION INSULATED 150 ABC 08413 1 or Box of 10 Each

LIMITED TENS INSULATED 95 ABC 07024 1 or Box of 10 Each

LIMITED TENS INSULATED 150 ABC 03149 1 or Box of 10 Each

Insulated sleeves

Deck tight/flashing
Description Code Buy Unit Unit of Measure

ACRYLEAD BASE EPDM BLACK 5-40 07879 1 Unit Each

Description Code Buy Unit Unit of Measure

SOL116 UP TO 3KW 08525 1 Unit Each

SOL225 3KW – 6KW 08526 1 Unit Each

SOL305 UP TO 6KW 3PH 08527 1 Unit Each

SOL310 5KW – 10KW 3PH 08528 1 Unit Each

SOL315 10KW –15KW 3PH 08529 1 Unit Each

Solpac kits

02677

02677



10 all-round-supplies.com.au

Service poles
Service poles ordered in as required. STD = standard pole, INT = intermediate pole

Description Code Buy Unit Unit of Measure

90NB 102OD 6.5M STD 03699 1 Unit Each

90NB 102OD 6.5M INT TBA 1 Unit Each

100NB 114 OD 6.5M STD 03669 1 Unit Each

100NB 114OD 6.5M INT 03650 1 Unit Each

125NB 140OD 6.5M STD 03670 1 Unit Each

125NB 140OD 6.5M INT TBA 1 Unit Each

150NB 165OD 6.5M STD 03844 1 Unit Each

150NB 165OD 6.5M INT TBA 1 Unit Each

Cover guard
Description Code Buy Unit Unit of Measure

COVER GUARD, POLE PLASTIC BLK SGL 1.55M 02713 1 Unit LGTH 1.55M

COVER GUARD, POLE GALV 4C 16-120 LV EA 03017 1 Unit Each

COVER GUARD, POLE GALV 4C 240 LV EA 03018 1 Unit Each

Saddles
Description Code Buy Unit Unit of Measure

CONDUIT FULL SADDLE 12.7MM GALV STEEL 02279 1 or Box of 100 Each

CONDUIT FULL SADDLE 16MM GALV STEEL 00259 1 or Box of 100 Each

CONDUIT FULL SADDLE 20MM GALV STEEL 03859 1 or Box of 100 Each

CONDUIT FULL SADDLE 25MM GALV STEEL 00519 1 or Box of 100 Each

CONDUIT FULL SADDLE 32MM GALV STEEL 00512 1 or Box of 100 Each

CONDUIT FULL SADDLE 50MM GALV STEEL 00979 1 or Box of 50 Each

SADDLE, 60MM TYPE 3 GALV STEEL 00234 1 or Box of 100 Each

SADDLE, 68MM TYPE 5 GALV STEEL 00235 1 or Box of 100 Each

SADDLE, 90MM TYPE 6 GALV STEEL 00049 1 or Box of 50 Each

SADDLE, GALV STEEL 16MM2 4C LV EA 03043 1 Unit Each

SADDLE, GALV STEEL 50MM2 4C LV EA 03044 1 Unit Each

SADDLE, GALV STEEL 120MM2 4C LV EA 03032 1 Unit Each

SADDLE, GALV STEEL 240MM2 4C LV EA 03033 1 Unit Each

Clouts

Strapping and buckles

Description Code Buy Unit Unit of Measure

CLOUT, 2.8MM X 25MM GALV -  2 KG TUB 02343 1 Tub Each

CLOUT, 2.8MM X 40MM GALV -  2 KG TUB 00496 1 Tub Each

Description Code Buy Unit Unit of Measure

STRAP/BAND, STAINLESS STEEL 19.05MM 02168 30.5 mtr Roll

BUCKLE, 19.05MM FOR S/S STRAP/BAND 02770 1 or Pack of 100 Each

TOOL, BAND-IT FOR 6-19MM S/S STRAP/BAND 02771 1 Unit Each

02713
03017



Service 11Phone: 1300 087 579

Description Code Buy Unit Unit of Measure

“PRIVATE POLE” LABEL 08540 1 Unit Pack of 10

“OUT OF SERVICE” SAFETY TAGS 07336 1 Unit Pack of 25

“DANGER DO NOT OPERATE” SAFETY TAGS 07337 1 Unit Pack of 25

Description Code Buy Unit Unit of Measure

35MM X 1.5M TIGER TAIL, RED/BLACK 08505 1 Unit Each

35MM X 2.5M TIGER TAIL, YELLOW/BLACK 02415 1 Unit Each

35MM X 2.5M TIGER TAIL, RED/BLACK 08734 1 Unit Each

45MM X 2.5M TIGER TAIL, YELLOW/BLACK 02640 1 Unit Each

70MM X 2.0M TIGER TAIL, YELLOW/BLACK 08516 1 Unit Each

Description Code Buy Unit Unit of Measure

3D VANE - BAYONET 08939 1 Unit Each

3D VANE - EYE RING 08940 1 Unit Each

FLAG - BAYONET 08941 1 Unit Each

FLAG - EYE RING 08942 1 Unit Each

Labels

Pole caps

Tiger Tails

Aerial warning markers

Description Code Buy Unit Unit of Measure

125MM GALVANISED STEEL POLE CAP 09026 1 Unit Each

150MM GALVANISED STEEL POLE CAP 06693 1 Unit Each

175MM GALVANISED STEEL POLE CAP 06694 1 Unit Each

200MM GALVANISED STEEL POLE CAP 02962 1 Unit Each

225MM GALVANISED STEEL POLE CAP 06695 1 Unit Each

250MM GALVANISED STEEL POLE CAP 03910 1 Unit Each

275MM GALVANISED STEEL POLE CAP 06696 1 Unit Each

300MM GALVANISED STEEL POLE CAP 02963 1 Unit Each

325MM GALVANISED STEEL POLE CAP 05158 1 Unit Each

350MM GALVANISED STEEL POLE CAP 04026 1 Unit Each

375MM GALVANISED STEEL POLE CAP 05159 1 Unit Each

400MM GALVANISED STEEL POLE CAP 02964 1 Unit Each

450MM GALVANISED STEEL POLE CAP 04153 1 Unit Each

Polcaps
Description Code Buy Unit Unit of Measure

CONDUIT WEATHER CAP SIZE 1 07995 1 Unit Each

CONDUIT WEATHER CAP SIZE 2 07996 1 Unit Each

CONDUIT WEATHER CAP SIZE 3 07997 1 Unit Each

CONDUIT WEATHER CAP SIZE 4 07998 1 Unit Each



12 all-round-supplies.com.au

Eye nuts
Description Code Buy Unit Unit of Measure

EYE M12 GALV STEEL (Aus) 03338 1 or Bag of 50 Each

EYE M12 GALV STEEL EXTENDED (Aus) 03339 1 or Bag of 50 Each

EYE M16 GALV STEEL 05549 1 or Bag of 30 Each

EYE M20 GALV STEEL  (End/Ess) 00428 1 or Bag of 20 Each

EYE M20 GALV STEEL (Aus) 06738 1 or Bag of 25 Each

EYE M24 GALV STEEL 06617 1 or Bag of 20 Each

Eye bolts (closed) 
Description Code Buy Unit Unit of Measure

EYE M16X150MM GALV STEEL 00773 1 or Bag of 20 Each

EYE M16X250MM GALV STEEL 05865 1 or Bag of 15 Each

EYE M16X300MM GALV STEEL 06257 1 or Bag of 15 Each

EYE M16X350MM GALV STEEL 05866 1 or Bag of 15 Each

EYE M20X200MM GALV STEEL 00558 1 or Bag of 20 Each

EYE M20X250MM GALV STEEL 00559 1 or Bag of 15 Each

EYE M20X300MM GALV STEEL 00560 1 or Bag of 15 Each

EYE M20X350MM GALV STEEL 00435 1 or Bag of 15 Each

EYE M20X400MM GALV STEEL 00427 1 or Bag of 10 Each

EYE M20X450MM GALV STEEL 00945 1 or Bag of 10 Each

EYE M20X500MM GALV STEEL 00561 1 or Bag of 10 Each

EYE M20X550MM GALV STEEL 00946 1 or Bag of 10 Each

EYE M20X600MM GALV STEEL 00562 1 or Bag of 10 Each

EYE M20X700MM GALV STEEL 00563 1 or Bag of 10 Each

EYE M24X400MM GALV STEEL 03792 1 or Bag of 5 Each

Eye bolts (open) ‘pigtail’
Description Code Buy Unit Unit of Measure

OPEN EYE M16X150MM GALV STEEL 07607 1 or Bag of 10 Each

OPEN EYE M16X250MM GALV STEEL 03029 1 or Bag of 15 Each

OPEN EYE M16X325MM GALV STEEL 03030 1 or Bag of 10 Each

OPEN EYE M16X350MM GALV STEEL 03031 1 or Bag of 25 Each

OPEN EYE M16X400MM GALV STEEL 07710 1 or Bag of 25 Each

OPEN EYE M16X450MM GALV STEEL 02957 1 or Bag of 25 Each

OPEN EYE M16X550MM GALV STEEL 07041 1 or Bag of 10 Each

OPEN EYE M20X250MM GALV STEEL 04015 1 or Bag of 10 Each

OPEN EYE M20X300MM GALV STEEL 02585 1 or Bag of 10 Each

OPEN EYE M20X350MM GALV STEEL 02958 1 or Bag of 10 Each

OPEN EYE M20X400MM GALV STEEL 04016 1 or Bag of 10 Each

OPEN EYE M20X450MM GALV STEEL 04017 1 or Bag of 10 Each



Service 13Phone: 1300 087 579

Galvanised washers

Coil washers 

Description Code Buy Unit Unit of Measure

M12, ROUND, GAL 00725 1 or Box of 200 Each

SQR FLAT (50X50) M12 GALV STEEL 00391 1 or Bag of 100 Each

M12, SPRING, GAL 03267 1 or Bag of 100 Each

M16, ROUND, GAL 00498 1 or Box of 200 Each

SQR FLAT (50X50) M16 GALV STEEL 00392 1 or Bag of 100 Each

M16, SPRING, GAL 03268 1 or Box of 200 Each

M20, ROUND, GAL 00727 1 or Box of 150 Each

M20, SPRING, GAL 03269 1 or Box of 100 Each

Description Code Buy Unit Unit of Measure

COIL SPRING M12-M16 STAIN STEEL 00404 1 or Bag of 100 Each

COIL SPRING M16-M20 STAIN STEEL 03734 1 or Bag of 100 Each

COIL SPRING M20-M24 STAIN STEEL 00403 1 or Bag of 100 Each

COIL SPRING M12 GALV STEEL 03761 1 or Bag of 200 Each

COIL SPRING M16 GALV STEEL 03762 1 or Bag of 200 Each

COIL SPRING M20 GALV STEEL 03763 1 or Bag of 100 Each

Galvanised coach screws
Description Code Buy Unit Unit of Measure

COACH M12 50MM 02278 1 or Box of 25 Each

COACH M12 75MM 00363 1 or Box of 25 Each

COACH M12 90MM 05178 1 or Box of 25 Each

COACH M12 100MM 00389 1 or Box of 25 Each

COACH M12 120MM 03441 1 or Box of 25 Each

COACH M12 150MM 02665 1 or Box of 25 Each

COACH M16 75MM 06165 1 or Box of 25 Each

COACH M16 100MM 00726 1 or Box of 25 Each

COACH M16 130MM 02897 1 or Box of 25 Each

Description Code Buy Unit Unit of Measure

SPREADER ROD, LV 2.0M FIBREGLASS 02055 1 Unit Each

SPREADER ROD, LV 2.5M FIBREGLASS 06707 1 Unit Each

SPREADER ROD, LV 2.8M FIBREGLASS 02056 1 Unit Each

SPREADER SPRING CLIP, LV STAINLESS STEEL 02057 1 or Bag of 400 Each

Spreader rods

Galvanised nuts
Description Code Buy Unit Unit of Measure

NUT, M12, HEX, GAL 03337 1 or Box of 100 Each

NUT, M16, HEX, GAL 02561 1 or Box of 50 Each

M20, HEX, GAL 00429 1 or Box of 50 Each



14 all-round-supplies.com.au

Galvanised bolts
Description Code Buy Unit Unit of Measure

HD M12 X 35MM GAL 05690 1 or Box of 200 Each

HD M12 X 40MM GAL 00517 1 or Box of 200 Each

HD M12 X 80MM GAL 04822 1 or Box of 200 Each

HD M12 X 100MM GAL 00396 1 or Box of 100 Each

HD M12 X 130MM GAL 00388 1 or Box of 100 Each

HD M12 X 150MM GAL 00423 1 or Box of 75 Each

HD M12 X 180MM GAL 00441 1 or Box of 50 Each

HD M12 X 200MM GAL 00564 1 or Box of 50 Each

HD M12 X 220MM GAL 00778 1 or Box of 50 Each

HD M12 X 260MM GAL 03274 1 or Box of 50 Each

HD M12 X 300MM GAL 02562 1 or Box of 50 Each

HD M12 X 350MM GAL 02807 1 or Box of 30 Each

HD M12 X 400MM GAL 02535 1 or Box of 30 Each

HD M12 X 450MM GAL 06412 1 or Box of 25 Each

HD M12 X 500MM GAL 06413 1 or Box of 25 Each

HD M16 X 40MM GAL 00879 1 or Box of 100 Each

HD M16 X 50MM GAL 05442 1 or Box of 100 Each

HD M16 X 55MM GAL 05689 1 or Box of 75 Each

HD M16 X 60MM GAL 05710 1 or Box of 100 Each

HD M16 X 130MM GAL 00565 1 or Box of 50 Each

HD M16 X 150MM GAL 00433 1 or Box of 40 Each

HD M16 X 160MM GAL 05213 1 or Box of 50 Each

HD M16 X 180MM GAL 00566 1 or Box of 30 Each

HD M16 X 200MM GAL 02529 1 or Box of 25 Each

HD M16 X 220MM GAL 02167 1 or Box of 25 Each

HD M16 X 260MM GAL 00567 1 or Box of 25 Each

HD M16 X 300MM GAL 00568 1 or Box of 25 Each

HD M16 X 350MM GAL 00569 1 or Box of 20 Each

HD M16 X 400MM GAL 00570 1 or Box of 25 Each

HD M16 X 450MM GAL 00571 1 or Box of 20 Each

HD M16 X 600MM GAL 06718 1 or Box of 15 Each

HD M16 X 650MM GAL 03791 1 or Box of 15 Each

HD M20 X 60MM GAL 05612 1 or Box of 50 Each

HD M20 X 65MM GAL 06717 1 or Box of 50 Each

HD M20 X 160MM GAL 02806 1 or Box of 25 Each

HD M20 X 180MM GAL 00789 1 or Box of 25 Each

HD M20 X 220MM GAL 00393 1 or Box of 20 Each

HD M20 X 300MM GAL 00425 1 or Box of 15 Each

HD M20 X 350MM GAL 00387 1 or Box of 15 Each

HD M20 X 400MM GAL 00417 1 or Box of 10 Each

HD M20 X 450MM GAL 00411 1 or Box of 10 Each

HD M20 X 500MM GAL 00419 1 or Box of 10 Each

HD M20 X 600MM GAL 00580 1 or Box of 10 Each

HD M20 X 650MM GAL 00581 1 or Box of 10 Each

HD M20 X 700MM GAL 00582 1 or Box of 10 Each

HD M20 X 750MM GAL 07029 1 or Box of 15 Each

HD M20 X 800MM GAL 07639 1 or Box of 15 Each

HD M20 X 850MM GAL 07640 1 or Box of 15 Each



UNDERGROUND SERVICE 
materials

PRIVATE
PILLAR

Service 15Phone: 1300 087 579



16 all-round-supplies.com.au

Earthing cables

Cut-to-length underground service cable*

Description Code Buy Unit Unit of Measure 

LV 4 CU 1C PVC GREEN/YELLOW 00045 100 Mtr Drum Mtr

LV 16 CU 1C PVC GREEN/YELLOW 00044 100 Mtr Drum Mtr

LV 25 CU 1C PVC GREEN/YELLOW 00037 100 Mtr Drum Mtr

LV 50 CU 1C PVC GREEN/YELLOW 02276 100 Mtr Drum Mtr

LV 70 CU 1C BARE COMPACTED 00207 100 Mtr Drum Mtr

LV 70 CU 1C XLPE/PVC BLACK 02142 100 Mtr Drum Mtr

LV 70 CU 1C PVC GREEN/YELLOW 00244 100 Mtr Drum Mtr

LV 70 CU 1C PVC BLACK NON-COMPACT 05726 100 Mtr Drum Mtr

LV 95 AL 1C XLPE/PVC BLACK 04604 100 Mtr Drum Mtr

*Not supplied on a drum, end caps not applied.

*Pre cut lengths supplied on drums can be ordered if required - cutting charge applies. Subject to cable availability.

Cut-to-length earthing cables
Description Code Maximum Cut Length Unit of Measure 

LV 70 CU 1C BARE COMPACTED 00207C 30M Mtr

LV 70 CU 1C XLPE/PVC BLACK 02142C 30M Mtr

LV 70 CU 1C PVC BLACK NON-COMPACT 05726C 30M Mtr

LV 70 CU 1C PVC GREEN/YELLOW 00244C 30M Mtr

LV 95 AL 1C XLPE/PVC BLACK 04604C 30M Mtr

Description Code Maximum Cut Length Unit of Measure 

LV 25 CU 4C XLPE/PVC BLACK 00040C 30M Mtr

LV 50 CU 4C XLPE/PVC BLACK 00111C 30M Mtr

LV 120 CU 1C XLPE/PVC BLACK 00516C 30M Mtr

LV 150 CU 1C PVC BLACK 03227C 25M Mtr

Underground service cable
Description Code Buy Unit Unit of Measure 

LV 16 CU 4C XLPE/PVC BLACK 100M 06864 100 Mtr Drum Mtr

LV 16 CU 4C XLPE/PVC BLACK 300M 00681N 300 Mtr Drum Mtr

LV 16 CU 4C XLPE/PVC BLACK 500M 07314 500 Mtr Drum Mtr

LV 25 CU 4C XLPE/PVC BLACK 00040N 100 Mtr Drum Mtr

LV 50 CU 4C XLPE/PVC BLACK 00111N 100 Mtr Drum Mtr

LV 95 CU 1C XLPE/PVC BLACK 02392 100 Mtr Drum* Mtr

LV 120 CU 1C XLPE/PVC BLACK 00516 100 Mtr Drum* Mtr

LV 150 CU 1C XLPE/PVC BLACK 04057 100 Mtr Drum* Mtr

LV 185 CU 1C XLPE/PVC BLACK 02462N 100 Mtr Drum* Mtr

LV 240 CU 1C XLPE/PVC BLACK 02604 100 Mtr Drum* Mtr

LV 300 CU 1C XLPE/PVC BLACK 07813N 100 Mtr Drum* Mtr

LV 400 CU 1C XLPE/PVC BLACK 03410 100 Mtr Drum* Mtr

LV 500 CU 1C XLPE/PVC BLACK 07836N 100 Mtr Drum* Mtr

LV 630 CU 1C XLPE/PVC BLACK 03082 100 Mtr Drum* Mtr



Service 17Phone: 1300 087 579

Service pillars

Terminal blocks

Labels

URD tools

Description Code Buy Unit Unit of Measure

SMALL INCLUDES BASE TOP & D BOLTS (End) A0031 1 Unit Kit

SMALL C/W BASE TOP & B BOLTS (Aus) A0401 1 Unit Kit

LARGE INCLUDES BASE TOP & D BOLTS (End) A0032 1 Unit Kit

LARGE C/W BASE TOP & B BOLTS (Aus) A0402 1 Unit Kit

LARGE C/W BASE, TOP, BOLTS, SIGN (Ess) A0403 1 Unit Kit

LARGE TOP, WIDE BASE & D BOLTS A0614 1 Unit Kit

PILLAR BOX, SMALL VENTED GREEN RECTANGLR 00032 1 Unit Each

PILLAR BOX, LARGE VENTED GREEN RECTANGLR 00025 1 Unit Each

PILLAR BASE, GREEN MOULDED PLASTIC 00094 1 Unit Each

PILLAR BASE, GREEN MOULDED PLASTIC-WIDE 04553 1 Unit Each

BOLT, BUTTON, PILLAR BOX M10 X 30MM SS (Aus) 02877 1 Unit Each

BOLT, D-TYPE, PILLAR BOX M10 X 30MM S/S (End/Ess) 00027 1 Unit Each

LOCKING DEVICE, DISTRIBUTION PILLAR 02909 1 Unit Each

LOCKING FLAT EXT, DISTRIBUTION PILLAR 02911 1 Unit Each

Description Code Buy Unit Unit of Measure

TERMINAL BLOCK, 3 HOLE SERVICE (Aus) 04228 1 Unit Each

TERMINAL BLOCK, 3 HOLE 50MM2 00012 1 Unit Each

TERMINAL BLOCK, 6 HOLE 50MM2 00028 1 Unit Each

Description Code Buy Unit Unit of Measure

“PRIVATE PILLAR” LABELS 08541 1 Unit Pack of 10

“DANGER ELECTRICITY” TRIANGLE LABEL 08353 1 Unit Each

“OUT OF SERVICE” SAFETY TAGS 07336 1 Unit Pack of 25

“DANGER DO NOT OPERATE” SAFETY TAGS 07337 1 Unit Pack of 25

Description Code Buy Unit Unit of Measure

D-BOLT SOCKET DRIVE 04561 1 Unit Each

D-BOLT SPANNER 02333 1 Unit Each

ALLEN KEY/BUTTON BOLT SPANNER 03848 1 Unit Each

INSULATED T-HANDLE HEX SCREWDRIVER 09040 1 Unit Each

INSULATED T-HANDLE ALLEN KEY 02810 1 Unit Each

STREETLIGHT COLUMN KEY 07810 1 Unit Each

Description Code Buy Unit Unit of Measure

ONE SCREW 2 x 6 SQMM CABLES 00031 Jar of 70 Jar

TWO SCREW 2 X 6 SQMM CABLES 00215 Jar of 50 Jar

TWO SCREW 2 X 16 SQMM CABLES 03978 Pack of 5 Pack

Cable connectors

00027

02911

02909

A0401

00012

04561

07810

02333

03848

09040

00028



18 all-round-supplies.com.au

Submersible fuseholders and IPCs
Description Code Buy Unit Unit of Measure

SUBMERSIBLE IN-LINE FUSEHOLDER - SILF 16 05648 1 Unit Each

SUBMERSIBLE IN-LINE FUSEHOLDER - SILF 20 07355 1 Unit Each

SUBMERSIBLE 2-PORT IPC, 6-50, INSULATED 03449 1 Unit Each

SUBMERSIBLE 3-PORT IPC, 6-50, INSULATED 02740 1 Unit Each

SUBMERSIBLE 4-PORT IPC, 6-50, INSULATED 03139 1 Unit Each

00127

00144

00128

00148

Description Code Buy Unit Unit of Measure

COMPRESSION 16 CU M12 1 HOLE 00128 1 or Box of 50 Each

COMPRESSION 25 CU M12 1 HOLE 00015 1 or Box of 50 Each

COMPRESSION 35 CU M12 1 HOLE 02077 1 or Box of 50 Each

COMPRESSION 50 CU M12 1 HOLE 00127 1 or Box of 25 Each

COMPRESSION 70 CU M12 1 HOLE 00016 1 or Box of 25 Each

COMPRESSION 95 CU M12 1 HOLE 00152 1 or Box of 25 Each

COMPRESSION 120 CU M12 1 HOLE 00148 1 or Box of 25 Each

COMPRESSION 150 CU M12 1 HOLE 02978 1 or Box of 20 Each

COMPRESSION 185 CU M12 1 HOLE 02217 1 or Box of 20 Each

COMPRESSION 240 CU M12 1 HOLE 00144 1 or Box of 5 Each

COMPRESSION 300 CU M12 1 HOLE 02786 1 or Box of 5 Each

COMPRESSION 400 CU M12 1 HOLE 02409 1 Unit Each

COMPRESSION 500 CU M12 1 HOLE 02113 1 Unit Each

COMPRESSION 630 CU BLANK 02304 1 Unit Each

Copper compression lugs

NB: Other sizes are available, such as M8, M10, M16 and blanks. Bi-metal and aluminium lugs are also available. 

Description Code Buy Unit Unit of Measure

COMPRESSION 16 CU 00007 1 or Box of 50 Each

COMPRESSION 25 CU 00004 1 or Box of 50 Each

COMPRESSION 35 CU 02756 1 or Box of 25 Each

COMPRESSION 50 CU 00005 1 or Box of 25 Each

COMPRESSION 70 CU 00138 1 or Box of 20 Each

COMPRESSION 95 CU 00139 1 or Box of 20 Each

COMPRESSION 120 CU 00136 1 or Box of 20 Each

COMPRESSION 150 CU 02707 1 or Box of 20 Each

COMPRESSION 185 CU 02228 1 or Box of 20 Each

COMPRESSION 240 CU 00133 1 or Box of 10 Each

Copper compression links

Stainless steel washer/spring/nut M10
Description Code Buy Unit Unit of Measure

WASHER, M10, ROUND, SS 00357 1 or Box of 100 Each

WASHER, M10, SPRING, SS 00750 1 or Box of 100 Each

NUT, M10, HEX SS 304 00358 1 or Box of 100 Each

05648

02740



Service 19Phone: 1300 087 579

Stainless Set Screws M10
Description Code Buy Unit Unit of Measure

HEX HD M10 X 25 SS 00359 1 or Box of 100 Each

HEX HD M10 X 30 SS 03989 1 or Box of 100 Each

HEX HD M10 X 40 SS 00748 1 or Box of 100 Each

HEX HD M10 X 50 SS 00360 1 or Box of 100 Each

HEX HD M10 X 70 SS 02340 1 or Box of 50 Each

Stainless steel washer/spring/nut M12
Description Code Buy Unit Unit of Measure

WASHER, M12, ROUND, SS 00020 1 or Box of 100 Each

WASHER, M12, SPRING, SS 00751 1 or Box of 100 Each

NUT, M12, HEX, SS 00019 1 or Box of 100 Each

Stainless set screws M12
Description Code Buy Unit Unit of Measure

HEX HD M12 X 25 SS 02527 1 or Box of 100 Each

HEX HD M12 X 30 SS 02894 1 or Box of 100 Each

HEX HD M12 X 35 SS 02900 1 or Box of 100 Each

HEX HD M12 X 40 SS 00017 1 or Box of 50 Each

HEX HD M12 X 45 SS 05255 1 or Box of 50 Each

HEX HD M12 X 50 SS 00018 1 or Box of 50 Each

HEX HD M12 X 60 SS 05551 1 or Box of 25 Each

HEX HD M12 X 65 SS 04181 1 or Box of 25 Each

HEX HD M12 X 80 SS 07674 1 or Box of 25 Each

Stainless set screws M16

Stainless steel washer/spring/nut M16
Description Code Buy Unit Unit of Measure

WASHER, M16, ROUND, SS 03111 1 or Box of 100 Each

WASHER, M16, SPRING, SS 03112 1 or Box of 100 Each

NUT, M16, HEX SS 03113 1 or Box of 100 Each

Description Code Buy Unit Unit of Measure

HEX HD M16 X 40 SS 03161 1 or Box of 25 Each

HEX HD M16 X 60 SS 03110 1 or Box of 25 Each

HEX HD M16 X 70 SS 03160 1 or Box of 25 Each



20 all-round-supplies.com.au

Cable clamp kits (threaded rod & unistrut nuts)
Description Code Buy Unit Unit of Measure

CABLE CLAMP KIT, CABLE 25-36 PLASTIC TRF A0349 1 Kit Kit

CABLE CLAMP KIT, CABLE 26-38 PLASTIC A0087 1 Kit Kit

CABLE CLAMP KIT, CABLE 26-38 PLASTIC DBL A0347 1 Kit Kit

CABLE CLAMP KIT, CABLE 33-46 PLASTIC TRF A0350 1 Kit Kit

CABLE CLAMP KIT, CABLE 36-52 PLASTIC A0142 1 Kit Kit

CABLE CLAMP KIT, CABLE 36-52 PLASTIC DBL A0348 1 Kit Kit

CABLE CLAMP KIT, CABLE 50-75 PLASTIC A0074 1 Kit Kit

CABLE CLAMP KIT, CABLE 51-64 TREFOIL A0921 1 Kit Kit

CABLE CLAMP KIT, CABLE 66-90 PLASTIC A0284 1 Kit Kit

NB: Clamps can be purchased separately.

Cable clamp components
Description Code Buy Unit Unit of Measure

CLAMP, CABLE 26-38 PLASTIC 2 BOLT - TE 07700 1 Unit Pair

CLAMP, CABLE  26-38 PLASTIC 2 HOLE 02040 1 Unit Pair

CLAMP, CABLE  36-52 PLASTIC 2 HOLE 02120 1 Unit Pair

CLAMP, CABLE  50-75 PLASTIC 2 HOLE 02259 1 Unit Pair

CLAMP, CABLE  66-90 PLASTIC 2 HOLE 03706 1 Unit Pair

CLAMP, CABLE  25-36 PLASTIC 2 HOLE TREF 03300 1 Unit Pair

CLAMP, CABLE  33-46 PLASTIC 2 HOLE TREF 04040 1 Unit Pair

CLAMP, CABLE  51-64 PLASTIC 2 HOLE TREF 03217 1 Unit Pair

NUT, M10, UNISTRUT LONG SPRING 00056 Each Pair

NUT, M12, UNISTRUT SHORT SPRING 08014 Each Pair

NUT, M12, UNISTRUT LONG SPRING 07129 Each Pair

ROD, THREADED M10 140 SS 00624 Each Pair

NUT, M10, HEX SS 304 00358 Each Pair

WASHER, M10, ROUND, SS 00357 Each Pair

Cable ties/straps
Description Code Buy Unit Unit of Measure

NYLON SD 2.5 X 100 BLACK 05236 1 Pack of 100 Pack

NYLON SD 3.6 X 150 BLACK 06836 1 Pack of 100 Pack

NYLON SD 4.8 X 200 BLACK 03999 1 Pack of 100 Pack

NYLON SD 4.8 X 300 BLACK 06835 1 Pack of 100 Pack

NYLON SD 4.8 X 364 BLACK 06834 1 Pack of 100 Pack

NYLON SD 7.6 X 380 BLACK 06833 1 Pack of 100 Pack

NYLON HD 7.6 X 530 BLACK 06772 1 Pack of 100 Pack

NYLON HD 7.6 X 550 BLACK 06832 1 Pack of 100 Pack

07700

03300



Service 21Phone: 1300 087 579

Earthing compound
Description Code Buy Unit Unit of Measure

COMPOUND, EARTH 15KG - GOOD EARTH 08188 1 or Box of 5 Each

COMPOUND, EARTH 20KG - EARTHRITE 01035 1 or Box of 50 Each

Nylon glands
Description Code Buy Unit Unit of Measure

8-13MM CABLE M20 02929 1 Unit Each

30-41MM CABLE M50 02969 1 or Pack of 10 Each

32-42MM CABLE M63 03165 1 Unit Each

10-18MM CABLE M25 04453 1 or Pack of 50 Each

15-23MM CABLE M32 04841 1 Unit Each

20-27MM CABLE M40 04842 1 Unit Each

Earthing rods & connectors
Description Code Buy Unit Unit of Measure

ROD, CU BONDED 15MM 2.44M POINTED (End) 00254 1 or Pack of 100 Each

ROD, CU BONDED 15MM 1.8M SWAGED (Aus) 04097 1 or Pack of 5 Each

ROD, CU BONDED 13MM 1.22M (Ess) 03446 1 or Pack of 10 Each

COUPLER, 15MM EARTH ROD CU POINTED (End) 02141 1 or Pack of 25 Each

COUPLER, 15MM EARTH ROD CU SWAGED (Aus) 04099 1 or Pack of 25 Each

COUPLER, 13MM EARTH ROD CU POINTED (Ess) 03679 1 or Pack of 100 Each

DRIVING POINT, HARD,15MM SWAGED (Aus) 04098 1 or Pack of 10 Each

DRIVING POINT, HARD,13MM TAPERED (Ess) 04874 1 or Pack of 5 Each

CONNECTOR “C” CABLE 95 WIDE JAW 02139 1 or Box of 25 Each

CONNECTOR “6” ROD 13-15 TAP 70 02138 1 or Box 0f 20 Each

CONNECTOR SHEAR-LOK ROD 13 CABLE 70 (Ess) 03440 1 Unit Each

CLAMP, EARTH ROD 13-15 CABLE 16-120 04318 1 or Box of 100 Each

Heatshrink tubing - thin wall, uncoated
Description Code Buy Unit Unit of Measure

LV 8/4 GRN/YEL 1.2M 06803 1 or Pack of 5 Each

LV 10/5 GRN/YEL 1.2M 06804 1 or Pack of 5 Each

LV 12/6 GRN/YEL 1.2M 06805 1 or Pack of 5 Each

LV 20/10 GRN/YEL 1.2M 06806 1 or Pack of 5 Each

LV  25/12TW RED UNL 1.2M 06807 1.2m length Each

LV  25/12TW WHT UNL 1.2M 06808 1.2m length Each

LV  25/12TW BLU UNL 1.2M 06809 1.2m length Each

LV  25/12TW BLK UNL 1.2M 06810 1.2m length Each

LV 40/20 RED UNLINED 1.2M 03371 1 or Pack of 5 Each

LV 40/20 WHITE UNLINED 1.2M 03372 1 or Pack of 5 Each

LV 40/20 BLUE UNLINED 1.2M 03373 1 or Pack of 5 Each

LV 40/20 BLACK UNLINED 1.2M 03370 1 or Pack of 5 Each

02138 02139



22 all-round-supplies.com.au

Heatshrink tubing - adhesive-lined, medium wall
Description Code Buy Unit Unit of Measure

LV 10/3 BLK LINED 1.2M 02301 1 or Box of 25 Each

LV 16/5 BLK LINED 1.2M 00006 1 or Box of 25 Each

LV 25/8 BLK LINED 1.2M 03379 1 or Box of 10 Each

LV 35/12 BLK LINED 1.2M 00318 1 or Box of 10 Each

LV 50/16 BLK LINED 1.2M 00129 1 or Box of 10 Each

LV 63/19 BLK LINED 1.2M 00547 1 or Box of 10 Each

Heatshrink tubing - uncoated, medium wall

Heatshrink end caps - adhesive-lined

Heatshrink end caps - no adhesive

Description Code Buy Unit Unit of Measure

LV 4-8 CABLE OD BLK LINED 04072 1 or Box of 100 Each

LV 8-17 CABLE OD BLK LINED 02646 1 or Box of 100 Each

LV 17-30 CABLE OD BLK LINED 02194 1 or Box of 100 Each

LV 30-45 CABLE OD BLK LINED 02422 1 or Box of 50 Each

LV 45-65 CABLE OD BLK LINED 00197 1 or Box of 25 Each

LV 65-95 CABLE OD BLK LINED 02496 1 or Box of 10 Each

Description Code Buy Unit Unit of Measure

END CAP  35-68 OD BLK UNL 00024 1 or Box of 100 Each

END CAP  70-145 OD BLK UNL 04241 1 or Box of 14 Each

END CAP  64-120 OD BLK UNL 02972 1 or Box of 10 Each

END CAP  45-90 OD BLK UNL 00023 1 or Box of 100 Each

Heatshrink Gloves
Description Code Buy Unit Unit of Measure

2 FINGER 4-25 CABLE BLACK LINED 03969 1 or Box of 20 Each

2 FINGER 35-150 CABLE BLACK LINED 03392 1 or Box of 20 Each

4 FINGER 4-35 CABLE BLACK LINED 03132 1 or Box of 15 Each

4 FINGER 35-70 CABLE BLACK LINED 03133 1 or Box of 5 Each

4 FINGER 70-150 CABLE BLACK LINED 02973 1 or Box of 5 Each

4 FINGER 185-300 CABLE BLACK LINED 00050 1 or Box of 5 Each

Description Code Buy Unit Unit of Measure

LV 10/3 BLK UNLINED 40M 04132 1 or Roll of 40 Mtr

LV 16/5 BLK UNLINED 40M 02904 1 or Roll of 40 Mtr

LV 25/8 BLK UNLINED 40M 03754 1 or Roll of 40 Mtr

LV 50/16 BLK UNLINED 25M 00022 1 or Roll of 25 Mtr

LV 63/19 BLK UNLINED 15M 04452 1 or Roll of 15 Mtr



Service 23Phone: 1300 087 579

Hard cover and tape
Description Code Buy Unit Unit of Measure

CABLE COVER, POLYMERIC W150MMXT5MMXL25M 03780G 1 Unit Roll - 25m

CABLE COVER, POLYMERIC W150MMXT5MMXL25M 02295G 1 Unit Roll - 25m

CABLE COVER, POLYMERIC W200MMXT5MMXL25M 00107G 1 Unit Roll - 25m

CABLE COVER, POLYMERIC W300MMXT5MMXL15M 03777G 1 Unit Roll - 15m

TAPE, MARKER - WARNING ELECTRIC CABLE - OR 00108 1 Unit Roll - 500m

TAPE, MARKER - 3 WAY - GAS, ELECTRIC, COMMS 02386 1 Unit Roll - 500m

Conduit glue
Description Code Buy Unit Unit of Measure

500ML 02078 1 Unit Each

4 LITRE 02546 1 Unit Each

Conduit 40mm
Description Code Buy Unit Unit of Measure

40MM 4M LENGTH HD ORANGE 00041G 1 Length (400 Crate) Each

40MM 45 DEG BEND 312R HD OR 00104 1 or Pack of 5 Each

40MM 90 DEG BEND 312R HD OR 02048 1 or Box of 5 Each

40MM 90 DEG ORANGE “HOCKEY STICK” 00105 1 Unit Each

40MM END CAP, RED 00103 1 or Box of 100 Each

Conduit 50mm
Description Code Buy Unit Unit of Measure

50MM 4M HD ORANGE SMOOTH 00185G 1 Length (280 Crate) Each

50MM 45 DEG BEND 320R HD OR 02049 1 or Box of 5 Each

50MM 90 DEG BEND 320R HD OR 02061 1 or Box of 5 Each

50MM COUPLING PVC 04469 1 or Box of 5 Each

50MM SLIP OVER COLLAR ORANGE 03064 1 or Box of 5 Each

50MM BELL MOUTH ORANGE 02817 1 or Box of 5 Each

50MM END CAP, ORANGE PERM EA 04599 1 or Box of 100 Each

50MM END CAP, RED 02051 1 or Box of 100 Each

Flexible conduit
Description Code Buy Unit Unit of Measure

20MM PVC FLEXIBLE GREY 00518 Roll of 30 Mtrs Mtr

25MM PVC FLEXIBLE GREY 00255 Roll of 15 Mtrs Mtr

40MM PVC FLEXIBLE GREY 03116 Roll of 30 Mtrs Mtr

50MM PVC FLEXIBLE GREY 00228 Roll of 30 Mtrs Mtr



24 all-round-supplies.com.au

Tapes
Description Code Buy Unit Unit of Measure

PVC ELECTRICAL RED 02128 1 or Pack of 10 Roll

PVC ELECTRICAL WHITE 02130 1 or Pack of 10 Roll

PVC ELECTRICAL BLUE 02129 1 or Pack of 10 Roll

PVC ELECTRICAL BLACK 00263 1 or Pack of 10 Roll

PVC ELECTRICAL GREEN/YELLOW 02347 1 or Pack of 10 Roll

PVC ELECTRICAL RAINBOW PACK 03582 1 Pack Pack

SELF AMALGAMATING 20MM X 5M BLACK 00379 1 x 5 Mtr Roll Roll

DUCT 48MM X 30M ROLL X 130UM SILVER 03349 1 or Box or 60 Roll

INSULATING VINYL MASTIC 3M ROLL 03388 1 x 3 Mtr Roll Roll

ADHESIVE FOAM 03389 1 x 10 Mtr Roll Roll

FIBREGLASS LV UG/OH EA ROLL 04164 1 x 75 Mtr Roll Roll

02128

02130 02347

02129

0334903349

Rope
Description Code Buy Unit Unit of Measure

PARRAMATTA ROPE, 6MM x 400M ROLL 03460 1 Unit Roll - 400M

POLY PULL LINE JETLINE - 950M 04591 1 Unit Roll - 950M

POLY PULL LINE JETLINE - 1830M 04590 1 Unit Roll - 1830M

Paint

Greases and pastes

Description Code Buy Unit Unit of Measure

PAINT, SURVEY MARKING YELLOW 350G AERO 02339 1 or Box of 12 Each

PAINT, SURVEY MARKING PINK 350G AERO 04002 1 or Box of 12 Each

PAINT, COLD GALVANISING 300ML AERO 02813 1 Unit Each

Description Code Buy Unit Unit of Measure

LOCTITE NICKEL ANTI-SEIZE COMPOUND 03776 1 Unit Tin - 500g

SILICONE GREASE 04969 1 Unit Tube - 150g

ALMINOX JOINTING COMPOUND 00054 1 Unit Tube - 325g

ALV300 JOINTING COMPOUND 04678 1 Unit Tube - 225g

EJC300 JOINTING COMPOUND 08882 1 Unit Bottle - 220g

Cable lube
Description Code Buy Unit Unit of Measure

LUBE, CABLE PULLING TYPE G BLUE 1 LITRE 02181 1 Unit Bottle-1L

LUBE, CABLE PULLING TYPE C GREEN 10L 02768 1 Unit PAIL-10L

LUBE, CABLE PULLING WATER BASED 20L 07223 1 Unit DRUM-200L

LUBE, CABLE PULLING TYPE C GREEN 200L 06782 1 Unit DRUM-200L



Service 25Phone: 1300 087 579

Cover guard
Description Code Buy Unit Unit of Measure

COVER GUARD, POLE PLASTIC BLK SGL 1.55M 02713 1 Unit LGTH 1.55M

COVER GUARD, POLE GALV 4C 16-120 LV EA 03017 1 Unit Each

COVER GUARD, POLE GALV 4C 240 LV EA 03018 1 Unit Each

Saddles
Description Code Buy Unit Unit of Measure

CONDUIT FULL SADDLE 12.7MM GALV STEEL 02279 1 or Box of 100 Each

CONDUIT FULL SADDLE 16MM GALV STEEL 00259 1 or Box of 100 Each

CONDUIT FULL SADDLE 20MM GALV STEEL 03859 1 or Box of 100 Each

CONDUIT FULL SADDLE 25MM GALV STEEL 00519 1 or Box of 100 Each

CONDUIT FULL SADDLE 32MM GALV STEEL 00512 1 or Box of 100 Each

CONDUIT FULL SADDLE 50MM GALV STEEL 00979 1 or Box of 50 Each

SADDLE, 60MM TYPE 3 GALV STEEL 00234 1 or Box of 100 Each

SADDLE, 68MM TYPE 5 GALV STEEL 00235 1 or Box of 100 Each

SADDLE, 90MM TYPE 6 GALV STEEL 00049 1 or Box of 50 Each

SADDLE, GALV STEEL 16MM2 4C LV EA 03043 1 Unit Each

SADDLE, GALV STEEL 50MM2 4C LV EA 03044 1 Unit Each

SADDLE, GALV STEEL 120MM2 4C LV EA 03032 1 Unit Each

SADDLE, GALV STEEL 240MM2 4C LV EA 03033 1 Unit Each

Polcaps
Description Code Buy Unit Unit of Measure

CONDUIT WEATHER CAP SIZE 1 07995 1 Unit Each

CONDUIT WEATHER CAP SIZE 2 07996 1 Unit Each

CONDUIT WEATHER CAP SIZE 3 07997 1 Unit Each

CONDUIT WEATHER CAP SIZE 4 07998 1 Unit Each

Clouts

Strapping and buckles

Description Code Buy Unit Unit of Measure

CLOUT, 2.8MM X 25MM GALV -  2 KG TUB 02343 1 Tub Each

CLOUT, 2.8MM X 40MM GALV -  2 KG TUB 00496 1 Tub Each

Description Code Buy Unit Unit of Measure

STRAP/BAND, STAINLESS STEEL 19.05MM 02168 30.5 mtr Roll

BUCKLE, 19.05MM FOR S/S STRAP/BAND 02770 1 or Pack of 100 Each

TOOL, BAND-IT FOR 6-19MM S/S STRAP/BAND 02771 1 Unit Each



service metering
materials

26 all-round-supplies.com.au

ELECTRICAL



Service 27Phone: 1300 087 579

Description Code Buy Unit Unit of Measure

80A SERVICE FUSE, 30 X 57MM 08750 1 Unit Each

100A SERVICE FUSE, 30 X 57MM 03847 1 Unit Each

Description Code Buy Unit Unit of Measure

ANTI-INTRUSION PLATE FOR 100A FUSEHOLDER 08800 1 Unit Each

Description Code Buy Unit Unit of Measure

5-PIECE 1000V INSULATED TORQUE SCREWDRIVER SET 09025 1 Unit Kit

9-PIECE 1000V INSULATED TORQUE SCREWDRIVER SET 09020 1 Unit Kit

Description Code Buy Unit Unit of Measure

ASBESTOS REMOVAL KIT 08912 1 Unit Kit

Description Code Buy Unit Unit of Measure

BLACK, BACK-WIRE 100A FUSEHOLDER 03846 1 Unit Each

BLACK, FRONT-WIRE 100A FUSEHOLDER 04278 1 Unit Each

CLEAR, BACK-WIRE 100A FUSEHOLDER 08762 1 Unit Each

CLEAR, FRONT-WIRE 100A FUSEHOLDER 07562 1 Unit Each

Description Code Buy Unit Unit of Measure

“METER PROTECTION DEVICE - 80AMP” LABELS 08790 1 Unit Box of 100

“SERVICE & METER PROTECTION DEVICE - 80AMP” LABELS 08795 1 Unit Box of 100

“SERVICE PROTECTION DEVICE - 100AMP” LABELS 08788 1 Unit Box of 100

YELLOW METER (ENERGY) SEAL 04058 1 Unit Box of 1000

Description Code Buy Unit Unit of Measure

NEUTRAL SUPPLY TESTER (M1121) - FOR USE IN NSW 08757 1 Unit Each

NEUTRAL SUPPLY TESTER (M1120) - FOR USE IN VIC, QLD & SA 09070 1 Unit Each

EARTH LEAD ALLIGATOR CLIP FOR NST 09013 1 Unit Each

EARTH LEAD ADAPTOR CABLE FOR NST 08921 1 Unit Each

EARTH TRAILING LEAD WITH ELECTRODE FOR NST 08876 1 Unit Each

CAT IV 600V SINGLE PHASE LOAD TESTER 08783 1 Unit Each

Service fuses

Anti-intrusion plate

Torque screwdriver kits

Safety

Service fuseholders

Meter labels and seals

Testing tools



Sydney
13 Progress Circuit, 
Prestons, NSW, 2170
1300 087 579
sales@all-round-supplies.com.au

Melbourne
4/433 Hammond Road,
Dandenong South, VIC, 3175
1300 087 579
sales@all-round-supplies.com.au

Perth
70 Kent Way,
Malaga, WA, 6090
1300 087 579
sales@all-round-supplies.com.au

www.ars.com.au


